10522R

Arm Assembly Instruction Sheet

CATALOG No.: SL SERIES (SIGNLIGHTER FIXTURE)
ARM ASSEMBLY SEQUENCE

1. REMOVE 1/4-20 FLAT HEAD SCREW FROM EACH END OF FIXTURE.

2. PLACE ADJUSTABLE FITTER HUB, OF WHICH ARM AND WALLFLATE
1S ATTACHED, OVER THE HICKEY ASSEMBLY.

2a. AT WIRE FEED END - SLIF WIRES THRU ADJUSTABLE FITTER HUB
AND ARM FPRIOR TO PLACING ADJUSTABLE FITTER HUB OVER THE

HICKEY ASSEMBLY.

3. SLIF 1/4-20 FLAT HEAD SCREW THRU COUNTERSUNK HOLE AT END
OF ADJUSTABLE FITTER HUB AND THREAD SCREW INTO END OF HI CKEV/

4. AFTER ADJUSTING LIGHT ANGLE, TIGTHEN 1/4-20 FLAT HEAD SCREW || \\ o
TO SECURE ARM AND FIXTURE ANGLE.

ALUM. EXTRUDED HSG.
WIRE FEED
LED WIRED CHANNEL (As Reqd.)

5" DIA. X190 THK. ALUM.
BACKFLATE (2 PLCS.)

3/16" HOLE FOR 8-32 MTG. SCREW
(2PLCS.)

JUNCTION BOX (BY E.C.)
3/8 IPS ALUM. PIPE / 90° ARM (2 FLCS.)

7
/q,\
\/

2-3/4" C-C

1/4-20 FLAT HEAD
PHILLIPS SCREW
Stainless Steel

/ \ Adjustment

[ Locking Screw

\ ! — 1 - — IHH]EHJI‘ (Shown removed from end
L of fixture for attachment of

\ sl W W N . Arm Assembly.)

\ 1-5/8" 0.D. ADJUSTABLE FITTER HUB

1/8M X 1/4-20F 1/4-20 FLAT HEAD
REDUCER BUSHING PHILLIPS SCREW

(Remove to assemble arm.)

3/8IF X 1/8IF HICKEY

T~

3/8IF NIFFLE J

(Wireway) (INSTALL IN POSITION SHOWN) NOTE:
090 ALUM. END CAP (Ea. End) DO NOT ROTATE FIXTURE HOUSING
NOTE: EACH DIRECTION.
"THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE
APPLICABLE INSTALLATION CODE BY A PERSON FAMILIAR WITH
THE CONSTRUCTION AND OPERATION OF THE PRODUCT AND THE
HAZARDS INVOLVED". CDLE

SL SERIES (SIGNLIGHTER FIXTURE)
Arm assembly Instruction Sheet

2560 Rosemead Blvd. So. El Monte, CA 91733 . (626) 443-2473 . Fax: (626) 443-9253 W




